VII - 1. Kiedy zachodzi nieréwnos¢

|sin(zq + 29 + ... + 2,)| < sin(xy) + sin(za) + ... + sin(x,)?

VII - 2. Kiedy zachodzi nieréwnos¢
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VII - 3. Kiedy zachodzi nieréwnos¢

n < ((z) 7 (m) ()Y Sy ,?
VII - 4. Kiedy zachodzi nieréwnos¢
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VII - 5. Kiedy zachodzi nieréwnos¢
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VII - 6. Kiedy zachodzi nieréwnos¢
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VII - 7. Kiedy zachodzi rownos¢
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VII - 8. Kiedy zachodzi nieréwnos¢
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VII - 9. Kiedy zachodzi nieréwnosé¢
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VII - 10. Kiedy zachodzi réwnosc¢

|x — 1||x + 2||x — 3||x + 4] = |z + 1||z — 2||z + 3||z — 4)?
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